Interpreter testoutput.

It is possible to have testoutput on the lineprinter (LPT) from to intarpreter intt5,
RCSL: 43-GL 1390. In case of normal program running the interpreter int05, RCSL:
43-GL 1294 should be used.

The Ipt driver should always be loaded together with the intepreter. In case of Ipt
errors the action is repetition until Ipt is recdy. If testoutput is wanted on another
driver the filename Ipt should be changed. This name is found as the first word of

the loaded module. A list command will give the address as current nmax.

The testoutput depends on how the keyboardswitches are set. It is possible to select

the testoutput in accordance to listing on next page.

The testoutput primary consists of the operation word (op) and the modification word
(modif). The modif is especiclly used in connection with the procedures takeaddress
and takevalue. Here the two rightmost bits are extracted indicating how the addresses
and values should be fetched. Forﬂ every takeaddress and tckevalue the modif is shifted

two bits to the right. The functions of the procedures are:

procedure takevalue(modif, value).
r’

'; gets the value of cn integer,

; 2 bits modif: 00 value = instr(pc), incr(pc),

s == - : 01 value = r.cur. ’
;- - : 10 value = word(instr(pc)). incr(pe).
PR - : 11 value = r.cur. ! !
; call: return:

; ac0 modif modif shift (-2).

; acl value

; ac? cur cur

; ac3 link destroyed

procedure takeaddress(modif, address).

; gets the address of an integer addressed by pc and incr(pc).

; 2 bits modif: 00 addr = word(pc). * integer .

P - : 0l addr= - . ! string !

;- - : 10 addr = - . ) file !

;- - : 1l addr = - . addr = zone{cur+addr(0:7)).zfirst + addr(8:15).
;o call: refurn:

; ac0 modif modif shift (~2}.

; acl address.

; ac2 cur cur.

; ac3 link destroyed.



testoutput format = op modif zone zused zsherei z
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200
201
202
263
204
205
206
207
210
2n
212
213
214
215
216
217
220
221
222

op
52
60

36
37
40
41
42
43

op
45
46
47
50
51

28R

56
57

op

21
22
23
24
25
26
27
30

32
33

op

O N D & WN -~

—

*/o-instruction: o
setrec o 346 create entry
putrec 347 leokup entry
waittransfer 350 change eniry
repecishare 351 remove entiy
transfer 352 init catoleg
inblock 353 uedote cotolog
outblock

incher

back:pace

cutsgece

outchar

outnl

outend

outtext

outoctal

setposition

close ,

open

waitzone

instruction testoutput format = op. modif.. PC~1PC+2 PC+3 PC-4 PC+5 PC+4

move(from oddr=takeeddrPC+2):takevalue/PC+3),to addr=takeaddr(PC+4}-tckevalue(PC+5), count=tckevo'ue(FC+6)},modif=PC+1

go code: index=-modif, oddr=curtindex, modifsPC+1, goto word(addr) {call of the codeprocedure) .

intteietian  testoutput for

;;;;; F

op. modif, PCaY PTa7 PT42 DCo4
moveword (to add: = tckecdd:r(FC~1), value = tckevaluePC+21)
movestring (from addr = tokecddr(PC-1},t0 oddr = tokeoddr{PC+2), count=tckevalue(PC+3}}

compereword, not used

comparestring {oddr of string i=tckeaddr(PC+1),addi of string 2=lokecddr(PC+2),count=tckevaiue(PC+3))

store register {store r in oddr = PC+1)

translcte(from byte addr=tckesddriPC+1},to byte addratckecdd:{PC+2), teblecddr=tokeaddr (PC+3))

convert{frem string cddr=tckecddr{PC+1}, ro string addr=tcikeadar{PC-2), tekleaddr=tckeoddr(PC+3), count=tckevalve(PC+4))

instruction testoutput format = op. modif. PC+1 PC+2 PC+3
opmess{cddr of string = tokecddr{PC+1))
opin (cddr of string verictie = tckeaddr(PC+1))}

opwait (cddr of varictle = (PC-1)}

cell (oddr of first cell in the prccedure, used to scve the link = PC+1{return PC), content of return PC = PC+2)

optest

see move (switch 1)

opstctus(status=tckevcluve PC+1), cddr of errorstring = takeaddr(PC+2))
bindec(vaive of bin = tckevaluePC+1), oddr of dec=tckeaddr(PC+2))

decbin(addr of dec = tckeaddr/PC+1), stere binvalue in cddr =PC+2)
insert (bytevalue = tckecaluve(PC+1), to cdir=takecdds(PC+2)*takevalue{PC+3))

goto (store goto eddr =PC+1  in PC end continuve)

instruction  testoutput formot = op. modif. PC-1

ond . constant, constant = PC+1

locd -, -
+ -, -
% -, -
shift -, -
extract - A -

and varicble, addr of variable = PC+1

load -, -
+ - , -
EY - , -
shifr -, -
extract - , -
. - -

/- .

locd negative (vaive =-tckevelue (PC+1))

lood byte {addr = takeoudriPC+1}, geroyte)

load b);?ewcrd {oddr = tckecddr{PC+1}, getbyte getbyte)

jump 1. goto oddr = PC-1 {meadif=0}

2. if o=b {modif= 9, 10 of 11} then gotc addr = PC+1

3. if @< b {modif = 11, 12 ¢r 13 then gots eddr=PC+1

4. if o> b (medif = 10, 12 or 14} ther goto cddr=PC+1

1. exit from procedure: cddr used to seve "return PC" = PC+1
2

. exit from zone giveup: cddr <0, zone = -cddr, PC = savePC, zone = zsize, link

instruction testouiput format = op mcdif.

stop

ond direct, modif = velue
focd -, -

+ -, -

+ -, -
shift -, -
extract - . -

. - -

/ - -

saveiink. zone=zpuff



MUsii COMPTLER/Z

0000

ngoL 1 PROGRAM USED TO GIVE AN EXAMPEL OF TESTOUTPUT FROM INTER:-RETCR 1
00 QCONST

5003 TEXTI='TT', TEXT2='SS8', MOVEOK='<{0>MOVE, OK', MOVEF='<{0>MOVE, FAULT';
0004 VAR

0005 RESULT: INTEGER?

0006 OUT: FILE 'XXXXX0',62,1,512,UB; GIVEUP FERRQOR, 8'177777 OF STRING(1):?
0007 '
0008 PROCEDURE WRITERESULT?

0009 BEGIN

¢010 IF RESULT=15 THEN OPMESS(MOVEOK); IF RESULT=16 THEN OPMESS(MUVEF)}
0011 END;

4012

0013 PROCEDURE FERROR;

0014 BEGIN

0015 1 DUMMY |

0016 END;

0017

0018 BEGIN

0019 | NORMAL INSTRUCTION |

002 RESULT:=15;

00 MOVE(TEX11,0,TEXT2,0,2)7

0022 IF TEXTI1<>TEXTZ2 THEN RESULT:=t6

0023 WRITERESULT?

vo24d

0025 1 CATALOG INSTRUCTION |

0026 INITCAT(OUT,0,1):

6027

0028 END:

SIZE: 00430

Interpreter testoutput:

=000036=000002=007746=000017=025000=000021 result:=15
£=000052-000000=000021=017654=000000~017660~000000-000002 move
£=000041=000005=017654=017660=000002~016011 comparestring
E='gm(34-000011=010460

£=0050=000000=010410~165001=007747 aﬂ?wnnmeﬂﬂf
£=000022=000002=007746 load result
£-0600004=000017 -15
£-000034=000014=-010420 jump
£=000045-000001=017664=011002~007746

£«000022-000002=007746 ﬁngfizﬁ:eok)
£=000004=000020 16
£~000034=000014=010427

£=000035-000000=010410 jump

initcat
£—000352-000001-0077&7-010001-001000-000000-000000-000000—00008? =000001=-543105
£-000090=000003 stop



